
Page 4, 1st paragraph, 2nd sentence:

MAER and MRAER are capped from below4 with ǫ = MAE(ŷ, y)/2, which is

the measurement error and it is estimated as half of the mean absolute error or de-

viation of the predictions from target mean.

New sentence:

MAER and MRAER are capped from below5 with ǫ = MAE(ȳ, y)/2, which is

the measurement error and it is estimated as half of the MAE of the target mean, ȳ.

4We use ⌊ . ⌋ǫ to cap the argument from below to ǫ.
5We use ⌊ . ⌋ǫ to cap the argument from below to ǫ.
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